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R o | BT e | B2 | e | e | B2 | B TR e | B2 | T | & | T
1 100kN/m##8% % 1.00{0.00 ~ 0.19 102.84| 3m%x#B2 5% -~ - - —| 100kN/mM%#B % % 1.00{ 12.34 ~ 13.11 102.84| 3m%x#B 25 -~ - - -
s 1.00/0.19 ~ 7,98 100.00f Zhkist |0.00 ~ 7.98] 1.95 10.42 s 1.00f 500 ~ 1234 100.00f Z=hl4t | 5.00 ~ 13.11| 1.95 10.42
9 100kN/m##8 %% 1.00{0.00 ~ 0.03 100.47|3m%x#B2 5 -~ - - —| 100kN/mM%#8 % % 1.00{ 1222 ~ 12.34 100.47| 3m%x#B25 -~ - - -
s 1.00/0.03 ~ 7.82 100.00f Zhki4t |0.00 ~ 7.82] 1.95 10.45 s 1.00f 500 ~ 1222 100.00f Zhl4t | 5.00 ~ 1234 1.95 10.45
3 100kN/m##8 %% 1.00{0.00 ~ 0.33 104.84| 3m%x#B2 5% -~ - - —| 100kN/mM%#2 % % 1.00{ 11.76 ~ 12.97 104.84| 3m%x#B 25 -~ - - -
s 1.00]0.33 ~ 8.11 100.00f Z=hki4t+ |0.00 ~ 8.11] 1.98 10.59 s 1.00f 500 ~ 11.76 100.00f Zhl4t+ | 5.00 ~ 1297 1.98 10.59
4 100kN/m##8 %% 1.00]0.00 ~ 0.71 110.52| 3m%*x#B2 5% -~ - - —| 100kN/mM%#2 % % 1.00{ 1266 ~ 16.18 110.52| 3m%x#B 25 -~ - - -
ZHnLs 1.00]/0.71 ~ 849 100.00f Zhkl9t |0.00 ~ 8.49]| 2.10 11.23 s 1.00f 500 ~ 12.66 100.00f Z=hl4t+ | 5.00 ~ 16.18] 2.10 11.23
5 100kN/m##8 %% 1.00{0.00 ~ 0.16 102.34| 3m%x#B2 5% -~ - - —| 100kN/mM%#2 % % 1.00{ 12.61 ~ 13.28 102.34| 3m%x#B 25 -~ - - -
s 1.00/0.16 ~ 7.94 100.00f Zhkist |0.00 ~ 7.94] 1.93 10.35 s 1.00f 500 ~ 12,61 100.00| Z=hl4t+ | 5.00 ~ 13.28] 1.93 10.35
6 100kN/m##8 %% 1.00{0.00 ~ 1.32 120.02| 3m%x#B2 5% -~ - - —| 100kN/mM%#B % % 1.00{ 12.66 ~ 21.27 120.02| 3m%*x#B 25 -~ - - -
s 1.00]1.32 ~ 9.11 100.00f Z=hki4t |0.00 ~ 9.11] 2.39 12.81 s 1.00f 500 ~ 12.66 100.00f Z=hl4t | 5.00 ~ 21.27| 2.39 12.81
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImEBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
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